
Question 1: Which one of the following device is used for compairing what is observed and what
is logically expected?

Statistics

Sociology
Research
Field work

Question 2: This statement by Howard Backer "deviance is not a quality of the act the person
commits, but rather a consequence of the application by others of rules or sanctions to an
offender" explains:

Social affirmation
Social diversity in deviance
Relativity of deviance

Relativity of crime

Question 3: Symbolic interactionism argues that gender inequality:

Is realized and socially constructed through our daily activities in collaboration with others

Can only be understood through structural level analyses
Is rooted in patriarchy and capitalism
Is rooted in exploitation and opportunity

Question 4: In pre-modern societies, birth rates were __________.

Very Low
Very high

Continuously stable
Continuously decreasing

Question 5: Which of the following is also known as social dynamic?

Social order
Social change

Social movement
Social revolution

Question 6: Weber claimed that class divisions derive not only from control or lack of control of
the means of production, another element also affects it which is:

Social pressure
Economic differences

Political pressure
Cultural factors
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